x =
M= 43F  HIZ06SS 12009 00t BAB (SHI) A
[20219 S 32081H] & 5 +SA3 0AXD 7500015 & 54kg, 4 55kg Il 2 7502t =1t ScoT
O 1502 & DF Xl +1kg
N 19 4,9008 2 ae =0t ElinblE SHFHIA HSAIZE
. 29 2,300 & - HRII= (Pe=2,848) 1301208
=HES g 1,5008 2 | sH9S3 (M) 1:15.5 1:13.3 (56.0,2) —
=0 g, (10.00082) | 49 8003 2 H = 0t 1:16.5 1:08.5 (53.0,12%) == “ﬂ"
591 500 & 1401202
1 b3 Hl A ﬁ 55.0(~1.0)|210709 R Ri6 800 25156 600THE| 210430 43 RI6 800 HS46% 600ZHR( 210402 2R RI6 800 5186 60025210305 1R RIE 800  HBH2 60025
— — @8FAE  1:07.9 5.0 FE @D IHED 1:068 H.0 #F (D 4=2HU=2 1:07.3 B0 HHE @O 7LARR2| 1:07.6 B0 S& @)
3Al (18.05.19) Xl H 2l 438 @10BALS 1:08.0 6.0 #F ©6)|@ BHFHA 1:07.8 5.0 S+ @)@ 6HFESZ 1:07.8 %0 2 (9@ 924U 1:80 7.0 & (1)
(R)HSZA/ (2IMFSA | sak 465(6.1)/13: 85 @ 2UALER] 1:08.0 6.0 HE (1)|@ 2LHL0l  1:086 5.0 HL (6@ EHLAB 1:07.8 5.0 22 ()@ 8R2UIAIY 1:085 %0 L ()
48 (1/0/0/1/1) /6408 NSO 2&( 1/ 0/ 0) @ ZHE 1:87 560 M2 @@ 6FH0l 1:093 60 W2 O @7AE  1:086 B0 TF G)|@6IUs 1006 570 SL 6
EX:3%F /10,0008 (OHE) |[ZRA:UBE(6X) ® 7LRAIH 1:088 540 43 6)|® €2 105 %0 42 7)|®8E32 187 %0 A% 7)|@2WAE  1:0.2 H0 47 @
oA O 5 SEH ® 62832 1:89 50 =A )| @LIAE  1:109 5.0  AZ (1) ® IH2044! 1:08.9 5.0 #8 (1)|® 504EL 11105 40 24 (p)
HEINI=AUS 2FX: 123] 2082 (&) 17.450.517.9 / 3 7.4 -4 3B.0 |17.453.508 /30 17.4-403R.3 |17.251.4-19.1 / L 17.2-4 R.5 |17.852.4-19.1 / XL 17.8 - 4 4.4
210307201 300 33 1(1/10)27 —10=101.2 7554 0 0 4 2 5@/9)37 7=87 186= |5 0 0 5 4 341034 5=1B728= |1 0 0 1 1 3(5/9)319 7/HU=5.1 234
2253 =S4&3 641083 [2101272 & X It =20 =20 =20 =20
Qb=ItH 2008257 & X I+ 84 YEOte YEOte UEOte QUEIISH
2 9 EI' gl el ¥ 54.0(0) |21072 R RI6 800 4% 600RKR! 210528 R RI6 800 Oitk 600RKR!| 210430 R KI6 800 Gk 600RKR! 210401 R FHAIAL 800 S4%
a " o D52E4OIE! 1:06.5 5.0 BA @D 7EGIUZ 1:07.6 5.0 WP @D IAIGAL 1:066 5.0 BE (6)|D6HMFSE 1:111.0 5.0 2L
3AMl (18.06.01) Xl & 3] e Z8zx @ 7THSAIH 1:06.1 6.0 A5 (6)|@ 1LARR 1:07.9 540 #FE @|@ 42220 1:060 0 FE 0)| @424 1:11.1 5.0 8
(R)HFZAL / (R2)2DKIBHE | S4k: 3155( 1.4%)/15: 435 | @10KHEH 1:07.7 540 &2 (1) ®10alA 1:07.9 60 FY (5@ 6LHOIR 1:08.3 5.0 2Bt @@ 28215 1:13.7 5.0 25
38 (1/0/0/0/2) /6008 SHEHO: 3&( 1/ 0/ 0) @ 85312 1:07.8 %0 Y 3)|@ HE2E 1:86 570 S$ @)@ 3EDAE 1:066 60 &2 (Q)|@ 1882 1143 509
EX:4% / 100,0008 & (OHY) |ZZRA:DHEHIE) ® 6222 1:82 5.0 P4 (8)®22E4IF 1:86 %0 BT (1)@ 7WEIE 1:07.2 540 B () ® LHEE 1:8.3 %.0=A
A = ® 4<CH 1:10.1 5.0 012 (6 ® 8HZ0l  1:09.1 6.0 &2 (6)|® 25FAA 1:072 60 012 @) 55401 0000 %03

2FX: 98] 1272 (2/X)

17.4-48.1-16.4 / 3C 17.4 - 40 33.3

17.3-51.3-19.0 / 3C 17.3 - 4 3.5

17.6-49.6-18.1 / 3C 17.6 - 4C 3.9

18.8-52.3-17.2 / 3C 18.8 - 40 3.2

2010275 S & 1001 1 1(1/10)ZD-E=249 122 (2 00 2 2 2A5/10)B-6=7928=2 |50 0 5 6 5(510)01 HI/0=B3 11 0 0 1 1 1250
Z 253 +S4&3 16,0083 [201023F S XIIHY =20 F20) F(FHE) F2Q F(FHE)
Q=IHH, DX 2010202KF L A AAHESTH) | 2=IHH, JFKIH2H =0+
3 IJF AH = A - [EH 55.0(0) %1072334_HJ6 00 4% 12008k 2Jos1s4n A6 900 H2Ue% 12008+ %104(_934HI6 00 ggms]znﬂ._r% 2}&1}54:3 A6 800 =M% 12008k
I — (,t @ 8HEEE 1159 560 HZ OO HIY 1161 B0 A2 0)|D4222Y 11182 50 Y 7)|D 60N 1:062 R0 A (1)

44l (17.03.28) &l & 2 orgal @ 62N 1:16.7 540 AS Q)@ 6UE2| 1169 5.0 B (0| @ 2HEAF 11183 50 &S (1)@ 25Z2E 1:07.1 B0  WZ ©)
(2)HNSZE / (D)UHEHN A | Sak: 7405( 18.86)/19: 25 |@ 4245 11175 570 S 0)|@ 4MESZ 1:7.0 50 D& @)@ 1LAHI| 11185 57.0 WY @|@ 7ahtLi2d 1:07.2 5.0 02t )
& (1/0/0/1/1) /8008 | 19XHZ0E 0&(0/ 0/ 0) @0AERl  1:17.5 B0 BE 6|@0YSFI| 11182 B0 FE 6)|@ 63HLE 1:19.1 B0 SL 6)|@ 44T2A 183 H0 S2 @
E®:13F /10,0082 0HE)  |ZBALDHEH(3E) @AMEA 11189 5.0 B 0| ® 3LAHI| 11187 8.0 MWZ @)|© 582t 11197 5.0 Y ()| ©® MRS 1:084 5.0 LY ()
DA :®52 /105 ©8/10 ™1/10 |Otx:sty = 1 9ZELM 1:21.5 B0 Y (9)|@RAUSH 1134 50 20 (6)|@MSH 1:21.1 50 BT ()| @RS 1:08 H0 B @
Z10:1:18.9 (210723, 55.0, 4%) |2Z=Zx1: 93] 1512 (2/& &) |18.251.9-18.1 /30 27.0 -4 43.6 |18.1-56.621.4 / L 6.8 -4 3.7 |18554.1-20.2 /3L 27.0-4043.7 |18.051.8-19.0 / & 18.0 - 4C 3.9
H:1:21.1 3&( 0/ 0/ 0) 21060521 Al 24 At 9009 8 Y7/10)ZBHE=1US8 172 |10 0 010 10 10(10/10)20 4=1B.5 1417 0 0 7 6 7(E/7)2A6=549 1= |6 0 0 6 8 7(7/10)2BH=1 1492
253 +S42 : 60 =20 =20 =20 =20
U=IIEH+
4 s 2 ' [H i 53.0(0) |[20723 3R RI6 900 4% 1200248 210611 47 RI6 900 OHE 1200RE| 210514 R RI6 900 S4% 1200248 210416 2R RI6 900 4% 12002k

= oS T Q’) @ 8H&ESZ 1159 560  HZ (1)@ F2AM3 1183 60 Y @D 2FLF 11149 570 A8 1) 1IHSHE 1162 B0 HZ @)
5A1 (16.04.09) &I H = PAE=F @ 62CUAIH 1:16.7 540 AT ()@ TMEHIE 11137 5.0 AS (6)|@ 525104 1156 50 SL 0)|@ 4¥EF 1171 570 &= (1)
(R)B2X / (R)sLEE Sab 77s( 1.80)/10: B | @ 48HAIS 11175 570 AR 0)|@ 624U 11145 7.0 SN ()@ LRI 1:15.9 5.0 48 ()@ GMESZ 1:7.1 540 28 ()
198 (0/2/2/2/0)/ 10,9188 | 0t 3&( 0/ 0/ 0) @OAER]  1:17.5 B0 BE 6)|@ 80IZHAMA 1:16.0 560 M2 1)@ 7RNMSZ 1:117.1 560 248 @ 2220 1:180 570 Apl ()
EX 13 / 30,0008 & (OHe) ZA:2AHA(16F) @ 2UMSZ 11189 B0 BE 10| ® 42At20f 1:16.4 5.0 &L (7)|® 88242l 1:17.2 5.0 JIY (5)|® 82H 11182 8.0 01 @
DUH:E62 /105 ®2/10 D7/10 |OrF:pg2 @oEERU 1215 B0 O @ @258RU 1:7.1 80 O @ @0ESR0 1:18.2 8.0 CiY @|® 301202X 1:184 5.0 IIF 6)

X D:1:17.1 (210611, 58.0, 20%)
HR:1:18.7 4™ ( 0/ 0/ 0)
Z 253 +=S43 &

;80
LAHEIOH

23X 103 1592 (¥ /523
2104172 & X THl

17.955.0-20.4 / 3C 26.5 - 4C 43.4

7 0 0 6 710(10/10)273 -9=14.8 B2
=20

PAREIHH

17.1-52.1-19.3 / 3 25.0 - 4C 41.2
700 6 7 8(7/10)2 +1=138 282
FEQ

PAREIHH

17.552.2-18.8 / 3C 26.0 - 4C 42.5
7 00 8 7 7(89)81 057.5 0=
FE2@

PAREIHH

17.4-52.3-18.7 / 3C 25.7 - 4C 41.9
4005 5 54/8)81 4554 B2
=20

PAREIHH

5 M [H gl g 58.0(+1.0)| 210717 2R RI6 900 28410% 12008t 210611 R RI6 00 HSE 1200245\ 210528 R RI6 800 HQI6% 600ZHR| 210420 1R RI6 800  HSIBH 600
@ 3getalsl 10163 8.0  FY ()| 3FUAZ 11150 80 ST )@ ALY 1:8.0 5.0 BE )@ 1A 1:066 5.0 B=E ()
3AMl (18.05.02) Xl %= & HHE @ 1PHEE 1:116.0 50 F2 ) @B5AISY 1153 5.0  BE ()| @0LLEI 1:086 50 45 (9@ 432 1:060 H0 dE O
(RIM=28 / (2)0{S0H Sab @1 B5.5W/19: 475 (@ 4NTHCIE 1:16.2 57.0  BE (@)@ 2204 11155 60 2L @)@ BHEFA 1:095 560 S4 O)|©@ 6LUH0IE 1:063 50 28 @)
68 (2/1/1/1/0) /10,6808 | S0 58(2/ 1/ 1) @ BHIZEH 1:16.3 6.0 £8 (65)|@ 4&H 1:16.0 5.0 S& (3@ 2BOMHE 1:0.5 H0 AN (1)@ 3ZFDLE 1:066 O S B
EH:2% /10,0008 & (OHg) TWAHZHA(15X) ® 7TMEHIZ 1:16.9 5.0 T @)@ 6HAY 11162 5.0 S (1)|® KFNHE 1:00.7 4.0 LY (6) ® 722428 1:07.2 5.0 & (1)
DN :®42 /105 ©6/10 OFF:2EX ® 28t2tA2] 1:17.8 57.0  JIY ()| ® SHIFEH 1:165 6.0 48 @® 52=+  1:009 560 U @)|® 25FAA 1:07.2 60 02 @)
Z/10:1:15.3 (210611, 55.0, 20%) |25=Zw: 83 1442 (2/2) 71807178/ £ 55- L M6 |17.049.917.2/3054-441.9 |17.750.3-17.3 /30 17.7-4 3.9 |17.248.4-17.2 / 3¢ 17.2 - 40 2.3
H:1:15.7 2&( 0/ 1/ 1) 210718 % K| I+ &4 20022 2AI)IB-1BBEDIE (2 0 0 2 2 2210311423 00210 0 1 1 1(1/9354=1.4102 |10 0 1 1 1(1/10)319 46=8.3 BI=
2253 =543 10,6808 & [210401F X F2@ =20 =20 =20
Qb= 2008227 & X I+ 84 UEOte YEOte YEOte UEIISH
6 8H AF O] © [E}] 57.0(+1.0)[210710 2R X6 900 EH0% 12002 210611 R K6 900 S 12000k 210621 R M6 900  HSH 13k 12002 210402 4R K6 900 LS 15 12002
A2 - 7 @) HIA{ [ORE=! 11155 570 BE (O SEHAY 1:150 580 SE @)D 1LALR] 6.1 7.0 S (1)@ FHAAS 1:58 540 2 @
3AMl (18.03.00) Al & 3 oo @ 3FAHY 11157 50 T (1)@ 5AHAE 1:153 50  BHE 6)|@ 6HIFEH 1:117.0 5.0 SFE ()@ 8E2t2D] 1:17.1 5.0 &5 (1)
(R)EEUE / (RILUT  |sak 163( 18.7%)/19: 575 |@ 6USEX 11177 B0 FY 1)@ 22104 115655 60 KL @O 8EN 11171 50 23 (6)|@ IUS2X 11178 57.0 =Y ()
68 (2/1/0/1/1) /13,708 |6XSHL0: 0M(0/ 0/ 0) @ IS 10183 5.0 SH ()@ 42X 1160 5.0 S (9@ 72402 1:172 7.0 X @ @0SXUA 1:17.9 B0 JE @
EX:3%F /20,0008 & () ZIWAFHOIEH (12F) ® 424012 1185 B0 L0 6)|@6HAAN 11162 50 B ()| ® 9HSEF 11172 50 L 7| G 70IS2H 1187 A0 L2 @)
A :E22 /105 ®1/10 DR 0@l ® SENAIB 1:19.2 540 =A (8)|® SHIHEAN 1:16.5 5.0 5 (2@ 2 1:18.2 5650 8= (3| ® 4LSUE 1105 5.0 I 6

£ 1D:1:15.8 (210402, 54.0, 15%)
o171 4%(1/0/0)
Z 253 +=S43 17,0083

a3
&=t

2 X1 93] 149%(
2107115 & X| I &4

2104042 & X| &4
21022701 EFA M A AH(ES 1)

ZH/2H)

o

17.9-52.0-18.0 / 3C 26.3 - 4C 43.0
10 0 0 8 8 7(4/10)%6 2=2.5 1502
=20

=0+

17.350.5-17.5 / 30 5.7 - 40 4.2
400 4 4 4510027 721733 1102
FE2Q

16.9-53.3-19.2 / 3C 24.9 - 4C 41.6
300 3 4 56/10)04-4=38 142
=20

16.8-50.8-17.9 / 3C 25.0 - 4C 40.9
2 0 0 3 3 3(1/10)38 +13=1.7 192
FE2Q

H = 48 = [2021.07.30]




7M % H
441 (17.01.12) Al
(2)XEAMA /( |2 XA
7E(0/3/1/2/ 1)/ 11,2088
EX:2% /50083 (1)
DA :®42 /95 ®4/10 @3/10
Z11:1:13.7 (210611, 55.0, 20%)
HZ:1:15.3 28 ( 0/ 1/ 0)

=13
a

]
He
2

)ES
/1

-—* $.0(+1.0) 210717 2R A6 900 H2H10% 12002f( 210611 4R Al6 900 HOHE 12000+ 210507 1R Al6 800 24914% 6002HA| 210326 1R Al6 800 24214% 6002HA
& **.: o M 3gr2talal 11153 5.0 Y ()| D 3G 1:133 560 LY (@)D 6HHOIZ 1:06.4 B0 B (@D 5E2E 104 F0 AW ()
iy aq @ 12YEE 1:116.0 5.0 F2 2@ INRHIZ 1:1183.7 6.0 AT (6)| @ 2MIHIR 1:07.3 57.0  JIY¥ (1)@ TMIRHIZ 1:06.0 5.0 JIH ()
Sak BIS( 6.4%)/149: 15 @) 4AIHRIE 1:16.2 57.0 SIE (3)|@ 624U 1:145 5.0 && (@)@ LS 1:07.3 6.0 5 )@ 7LUHE 1:06.1 54.0 =8t @)
o0 2&( 0/ 1/ 0) @ gdIMTol 1:16.3 6.0 8t (5)|@ BOIZHAIA 1:16.0 6.0 THZ ()| @ 7EHLAZ 1:07.4 570 ZA (6| @ 9LLEI} 1:6.1 60 &S (6)
ZIWAH: OIS (10X) ® TMIZHIZ 1:16.9 5.0 RS @) G 42AI20 1:164 57.0 H2 7)|® 4BA=KH 1:85 6.0 S 9)|® 4MXEY 1:06.7 6.0 0/ ()
OtF:25s ® 2stetael 1:17.8 57.0 1Y (6)| @ 2&EE2U 1:117.1 8.0 COF (9] ®100t0t25 1:00.1 8.0 R (6)|® FILE 1:68 60 EHE
2FZXW: 73 1212(A]) 17.650.7-18.2 / 3 26.2 - 4C 42.0 17.1-48.9-17.4 | 3 24.8 - 4C 40.4 19.4-47.9-16.6 / € 19.4 - 4C 34.7 17.8-47.2-16.6 / 3 17.8 - 4C .9

6 00 6 6 50582860536 002

600 4 3 221006645138 4=

100 010 8 7(2/10)20 13=2.4 BIZ

600 6 6 3210067 +15=10.8 1182

z 2538 =S4 1 7,740 Fz20@ Fz20@ 20 B4(8YE) 20 B4l(8YE)
2=ItH A A Ut
8 of ¢ _.x_l __Ll. . 55.0(-3.0)[ 210618 R RI6 800 286k 600RKR! 210521 R KI6 800 213 G002 210430 47 RKI6 800 86k GI0RIR! 201212 R KIB 800  154% G00RHR
= = 5L} 1048 6.0 HE @@ 60I2HMA 1:07.0 57.0 2 )@ AHED 1:06.8 H.0  FB @ O 1HHSZ 1:85 B0 4 (1)
3Kl (18.04.27) Rl % 3 BF8 o izren 2 70 42 0|@EED 108 7.0 48 0|2 BNEEM 108 B0 54 0| IHADE 187 BO A8 (1)
(RIEE / (R)rd B = Sk 2005( 13.1)/19: B @ BQIEHED 1:06.8 BO B ()@ 2582 1085 B0 Y (@ 2oHL0l 1:086 B0 Yo ()@ 6FR 1:089 5.0 S (1)
48 (1/1/1/0/0) /65608 SHEO: 3R( 1/ 1/ 1) @ 6ZE2MY 1:85 560 Y (6)|@ 932 1:092 540 S 0|@ 65H0l 1:093 560 M2 (6@ 78r2Lt 1:00.0 8.0 & (1)
EM:6F [/ KOHAA FRAHMBS(17E) 6 9ROAMS 1:(85 B0 24 (6)|® 7RES 11104 5.0 A |® 1= 1:09.5 540 49 (7)|® 4H0OF2HH 1:00.4 560 84 (1)
WA OFE=:01gH ® 7€Ui8t 1:005 8.0 RY @® 10/2HFL 1:104 H0 | G@®0FHS  1:10.9 5650  HZ (1) @0AHED 1:123 0 = (1)
eo=sgs 2ZEW: 113 2062 (8H/2) | 17.748.1-16.2 / & 17.7 - 40 B.4 | 18.049.8-17.1 / 3 18.0 -4 34.6 |17.3-48.518.0 / 3 17.3-4031.9 |18.953.4-19.1 / & 18.9-4C %5.6
210711 X S X TH 8 3003 3330RHU51102 (4004 4 220280229632 |2 00 2 1 1(1/92849=87 1102 [9 0 0 910 9(8/10)20 +13/116=7.3&
Z 253 &=S4&3 1 6,560 R [2011272SI12 & JIEt =20 =20 F20Q RS =20
Hetg20el Mz, 2EIH8- 2010288 X A0t HprEE eI A0t HprEE eI A0t HprEE eI e T [ == I EIpy I
9 XM g oF & Q 55.0(-3.0)|210724 1R RI6 800 2844% 600EHR 210604 1R RI6 800 HSIB% 600ZHR( 21040 2R RI6 800 HDI6K E00R| 210120 2R RIE 800 iz 18% 60025
= = =1 = @ 5giet  1:07.3 8.0 RY 6@ 42D 1:07.8 5.0 HZ ()| @3FHAAL 1:07.5 B0 EH @ O SEXURE 1075 HO w8 (1)
4M| (17.05.28) ®l H 3 dUE | psmues 104 B0 83 @@ s2=0 180 50 98 6]Q0EETE 108 B0 85 0| @ SHI0E 107 50 A @
(R)XEMY [ (2)AHTRE| | S 148 7.5%)/18: 185 |@NSBZF 1:002 7.0 W2 @) @sHHAS 1:82 7.0 B @G 722AIIAl 1:83 5.0 8L (6)|@ 1Z342AL 1:07.8 5.0 HE
58 (1/1/1/0/1) /81808 SN0k 0F(0/ 0/ 0) @ 32HEt 1:09.3 57.0 A ()|@02E  1:095 540 2B Q)@ BAREY 1:084 50 BHE Q@ TAMLE 189 H0 S|Y @
E&:1F /10,0008 & (OHg) ZWAL2AYRH(16F) 6 2ZYXA 1:005 H.0 SHE ()G 60IHHE 1:10.1 B0 KL 6 %2 1:085 540 B4 O®HEAIS 1:005 80 45 (@
DN :®5% /105 IR ® IH2oS 1:096 6.0 A (O)|® N2 1:10.1 B0 A (6)|® 2WAUY 1:088 H0 U (6)|@6/EHAS 1:11.5 B0 &l @
HEII=asS 2FZXW: 13| 1772 (2/0hY/2|17.549.9-18.4 / 3 7.5 -4 R.7 |17.350.9-18.4 / X 17.3 -4 B.1  |17.450.1-17.8 / £ 17.4-4C 33.2 |18.253.3-18.6 / 3 18.2 -4 %.9
210501 & X I+ 84 4004210125262 (100 1 1 1(30)Z0+H=44222 (3 0 0 3 3 1(1/0)B-10=108DI2{6 0 0 610 99/ 10)XD 3237 1B=
Z 253 =S&= 1 8,180 A [2104182+ 4 =20 =2 HH(EOHY) =20 =20 Fo(FuE)
201023 X YAHEDFB- LAHEDISH
10 o M O™ - [EH 55.0(-2.0)|210628 3R A6 800 2el6% G02HR| 210430 2R HE 800  HSt6k G02R 201212 2R HE 800  H54% G0 201113 8 A6 800  Heh4n 60024
- 8 T = ° oA @ 7HBIH2 1:07.6 6.0 M2 @)D 3FHAE 1:07.5 60 BA @O 1BFSZ 1:85 60 48 0)|D 7YENY 1:069 %0 Y @
3AMl (18.05.17) Xl == 3l (4 242 @ 1LAER] 1:07.9 540 BE Q| QURESH 1:07.8 5.0 45 (@ FEFA 1:87 50 $8 ()@ 1223 1:069 B0 45 @)
(R)YUEFAL / (2)XSEH | S4: 1,105( 11.3%)/15: 205 |@042  1:07.9 5.0 HY (6)|@ 7LAIIAl 183 5.0 B (6)|® 6522 1089 57.0 S& (1)@ 20I2HH4 1:060 50 W2 )
58 (0/2/1/1/0) /73082 | 11ZaHZ0k: 1&8( 0/ 1/ 0) @ CRETH 1086 570 S4 @@ 6NESY 1:084 %0 HE (9@ 7L} 1:00.0 B0 B (1)@ ML 1:06.1 50 =BA (8
EX:9% / 21,0008 & () ZWAHAE(4F) 6 222f2l8! 1:86 .0 HE (1) ® 1X2 1:085 %40 84 (9)® 4H0I2HH 1:09.4 5650 B4 (1)|® 4HLKILE 1:07.5 540  CHet (1)
DA B3 /105 OFF: 2488 ® 8CHZOl  1:00.1 5.0 &Z (6| ® 2MAKL 1:08.8 H.0 Y G| ®IOASED 1:12.3 560 S (1) @ SHETH 1:086 60 8 6
eo=sgs 2ZE1: 73 1082 (/) 18.2-50.4-182 /L 182-40B.7 |[17.350517.9/ X 7.3-4R9 |17.850.9-18.6/3 17.8-403B.3 |18.250.4-17.9 / & 18.2 - 4 34.1
210403 % & X T 8 70076 64/10)20-3=79R12 (2 00 2 2 32/0)AR+2=108 15B={3 0 0 3 3 /)N E=273 7= |6 0 0 6 6 6(6/10)3p 5=84 5=
Z 253 +S4&3 17,308 F 200919201 =20 =20 =20 =20
2008142 S| 2 & JIE
Zlo|e SE =358 900m & 900m [ 117| &
- PRl 333% 5 AlCHo 500% 6 3HAAE 250% 7 MZHetE 1137
- 5 AlcHeE 333% 6 A 500% - 5 AlCHeld 1:153
- 6 Aol 333% ERi=Enk 500% - 6 iAol 11158
- 1 8H A 250% 7 MZEHuHE 29% - 45ERY 1171
- 8 et x| 250% EEslsbies 400% - 3LMEA 1:189
HZ 19 43 A2 N 43 4t 200m 7| £ (62| E ) Z4t 200m 7| £ (621E ) HEX|
6aaoly 137243k 5 A|CHol 994 It [l gl 173 7 MZHeEE 174 7 MZHetE 114
7 AjEHerEr 113440k 9 MH ok 6984 Tt 5 AlCHelE 174 5 AlCHeld 176 5 AlCHeld 106
5 AlCHelH 107448k 7 MEheRE 6840t 2 22telg 174 Redg=ESinl 176 6 AR 103
9 HiHoks 824t 8 OtE{x| 1 66443t 1 MH M 175 6 ARG 177 45ERY 97
3ZMEA 808Kt 1 8RN 64840+ 9 HUH%L 176 22203 178 3ZMEZ 85
H 3= 433 [2021.07.30] =20t 2HE MIA BE=A OtAS 226HAID| HEELICH.




